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QUESTION 1

What VMware product would address a customer\\'s need for micro-segmentation?
A. VMware vRealize Automation

B. VMware vRealize Network Insight

C. VMware ESXi

D. VMware NSX

Correct Answer: D

Reference: https://blogs.vmware.com/networkvirtualization/2016/06/micro-segmentation-defined-nsx-securing-
anywhere.html/

QUESTION 2

A company wants to decrease the cost of data center cooling.

Which solution should they implement so the data center runs on fewer physical servers?
A. VMware Workstation

B. VMware vSphere

C. VMware NSX

D. VMware Horizon View

Correct Answer: B

QUESTION 3

Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.)
A. Complex architecture

B. IT driven policies

C. Comprehensive management

D. Flexible cloud delivery

E. Increased administrative cost

Correct Answer: BC

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html
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QUESTION 4

Which two statements about VMware Horizon View Composer are true? (Choose two.)

A. If instant clones are provisioned, VMware Horizon View Composer does not need to be installed.

B. VMware Horizon View Composer is a mandatory Horizon 7 component.

C. A vCenter Server instance can be associated with multiple VMware Horizon View Composer servers.

D. Although VMware Horizon View Composer can be installed on its own server host, a VMware Horizon View
Composer service can operate with only one vCenter Server instance.

Correct Answer: BD

Reference: https://docs.vmware.com/en/VVMware-Horizon-7/7.2/com.vmware.horizon-view.administration.doc/GUID-
F20397F5-A0A1-4DF1-A4FB-11F15E94331D.html

QUESTION 5

Which key component helps enable cross-cloud architecture along with VMware Cloud Foundation?
A. vRealize Suite

B. NSX

C. Site Recovery Manager

D. VMware Integrated Openstack

Correct Answer: B

QUESTION 6

Which three requirements should be gathered during a design workshop? (Choose three.)
A. Constraints

B. Recoverability

C. Manageability

D. Risks

E. Requirements

Correct Answer: ACD

QUESTION 7
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Which three choices are key objectives or deliverables for proposing a solution? (Choose three.)
A. Design Requirements Workbook

B. Backup Strategy

C. Operating Procedures

D. Implementation Guide

E. Validation Procedures

Correct Answer: ACD

QUESTION 8

A company wants to implement a software-defined network solution with minimal impact to the existing environment.
What additional hardware, if any, is required when implementing VMware NSX?

A. A stateful inspection Firewall to take advantage of NSX\\'s built in Firewall protection

B. None. NSX is a completely non-disruptive solution.

C. Special VLAN configurations for accessing NSX.

D. At least two Layer 3 switches that must be converted to trunk mode.

Correct Answer: B

NSX is a completely non-disruptive solution which can be deployed on any IP network from any vendor ?both existing
traditional networking models and next generation fabric architectures. The physical network infrastructure already in

place is all that is required to deploy a software-defined data center with NSX.

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/nsx/vmw-nsx-network-
virtualization-design-guide.pdf

QUESTION 9

Match the requirements to the appropriate VMware solution.

Select and Place:
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Answer Area

Requirement Solution
Manage and Secure Applications
in thogclnud o NSX

Centralized manaﬂument of
desktops and application Horizon

Fully Automated Datacenter Cross Cloud Architecture

Microsegmentation SDDC

Correct Answer:

Answer Area

Requirement Solution
Microsegmentation NSX
Centralized manaﬁnmont of
desktops and application Horizon
Manage and Secure Applications  crogs Cloud Architecture
Fully Automated Datacenter spDc

QUESTION 10
An architect is tasked with working with the Line of Businesses to understand their requirements for monitoring. One
requirement is to analyze both structured and unstructured data and provide 360-degree visibility for the cloud

infrastructure. Which two vRealize Suite products provide this functionality. (Choose two.)

A. vRealize Orchestrator
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B. vRealize Log Insight

C. vRealize Operations Manager
D. vRealize Automation

E. vRealize Business

Correct Answer: BC

Reference: https://www.vmware.com/products/vrealize-operations.html

QUESTION 11

A company is starting a cloud deployment project. They have a requirement to provide one time and operational pricing
for virtual machine provisioning by line of business. Which two vRealize Suite products will meet the requirements?

A. vRealize Automation

B. vRealize Operations Manager
C. vRealize Organizer

D. vRealize Orchestrator

E. vRealize Business

Correct Answer: AE

Reference: https://www.vmware.com/products/vrealize-automation.html

QUESTION 12

Which two components are leveraged with VMware vSAN? (Choose two.)
A. VMware vVols (virtual Volumes)

B. Industry standard hardware

C. VMware HCS (Hyper-Converged Software)

D. VMware VSA (virtual Storage Appliance)

E. Fabric switches

Correct Answer: CD

QUESTION 13

VMware User Environment Manager, VMware App Volumes, and VMware vRealize Operations for Horizon are
available in which Horizon 7 Edition?
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A. Horizon Standard

B. Horizon Enterprise
C. Horizon Professional
D. Horizon Advanced

Correct Answer: B

QUESTION 14

What are the components of VMware HCS (Hyper-Converged Software)?
A. VMware vCenter Server, vSphere and vSAN

B. X86 Server Hardware only

C. VMware VSA (virtual Storage Appliance)

D. VMware vSAN only

Correct Answer: A

Reference: https://blogs.vmware.com/virtualblocks/2016/02/10/introducing-vmware-hyper-converged-software/

QUESTION 15
Complete the sentence by selecting the correct option.

The VMware approach to SDDC leverage logical infrastructure services that are the underlying physical
hardware.

A. removed by

B. replaced with
C. integrated with
D. extracted from
Correct Answer: D

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/techpaper/technical-whitepaper-sddc-
capabilities-itoutcomes-white-paper.pdf
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